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The Jigures in the mafgin indicate
Jull marks for the questions.

Answer either in English or in Assamese
1. Answer.the followihg questions : 1x7=7
e eI e fiml 3
{a) What is a meso compound ?

o I B e
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‘(b) What is meant by a normalized wave
' function ?

wqﬁawerm‘;qﬁmﬁsgm?

(c) Arrange the followmg compounds in
_increasing order of bond angle :

. were faml. mmm«mm
ST ACERY ¢

NH3, PH3, AsHj, BiHy

- (d) Draw the }structure of the most stable .
- conformer of cyclohexane.

WWWWWWW
11

(e) Predict the shape of the following
molecule :

were Ml SR wigfe Fda =i g
SOCl,, SFq

() Which of the following molecules. is
nonpolar ?

were AP GPRG! oY m@a ?
S0,, PCI,
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(g Why is phenol a stronger acid than
aliphatic alcohol ?

Gfeete geemR gamre e [ @)
ufss 2 -
2. Answer-the following questions : . 2x4=8
TR ATRIRE Tel forl 8

" (a) Explam the physxcal significance of ¥
- and y/

Ly R 2 -amﬁmame|

(b) Explain why racemic mixtures are
optically inactive ?
(T fRReIca s SicaTe S2es, It <1

(c) Assign R/S conflguratlon of the
following compounds :

were famt cﬁﬁﬂq@ R/S fagRem fda
1 2
- CHO. X NH, -
H+ OH HO~—|— CHy
CH,OH H
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(d) What is Baeyer’s test ? lee the
reaction.

mﬁﬁmqﬁm%qm ﬁ%ﬂ@f%ﬂll

3. Answer any three of the following
questions : ) - 5x3=15

. woR fre ot See e

(@) (i) State Saytzeff’s rule and explaln :
Lo with suitable example. 2

‘%WWW@%WW%W*JW
=l

(i)’ Describe the mechanism of
dehydrohalogenatlon of alkyl

halides. : 3
qTiEA (EARTT RoRRerET RS
wive RiFnRfE 3 =

(b) Describe the utility of Born-Haber cycle
' for’ calculating the lattice .energy of

sodium chloride. ' : 5‘
RCTN FITGT @R =& som FRta
(I b RPN |
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(c) 'Identify the products of the followmg

reactions : 1x5=5
wers fiat Rtz Ritmrers ‘Wﬂf@ﬁ e
W °

) . /\/ +Hy Lindla;"s catalyst N

0O,

0 N T

(iii) /Y HotKMnO,

" .  H,0,/OH-
) X ‘+BHs 02/ >
(d) How are alkanes prepared by the
folowing ? . 2%+ 2% =5
oo PR ARl (TR G S
=y - |
(i) Corey-House reaction
T EReR R
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(i) Wurtz reaction
T Ricrat

(é) Draw the radial probability distribution
curves for 1s, 2p and 3d-electrons and
explain the difference. 5

1s, 2p 9% 3d FETFT @A weier Foad
IR u IR ST Sy g aw |

4. Answer any three of the following
questlons 10x3=30

(a) (i) Write two differences between -
electromeric effect and :

resonance effect. 2
ATARS T T a@m ere ;ﬂ}/
N Fma

(i) Write down the mechanism of
oxymercuration-demercuration of

reaction of propane. 3
ATHAGT Wﬁﬁf@m—%ﬂwﬁ%m
. RifFrar RiGraRfEw: By
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(i)

(iv)

@) )

State and explain Hofmann’s rule
with an example. 3.

Tz R R e

Carry out the fbllowing conversion :
were ANt +ifRaen 3 3
> \/\ .

Ethyne but-2-ene

Discuss the ,-bonding in NO

. molecule with the help of

molecular orbital theory and from
its molecular orbital energy level
diagram explain why bond energy
of NO* is larger than that of NO.

. 5
iR SRR TG TAITS NO S9F A1

261 T S TR SRS SRR “fRewd

foae QTS /A -F_ @ NO*I IR
*f& ©t& NO Rl
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| (ii) What is radius ratio rule ? How

€ @

éan it help to predict the structure

" of an ionic crystal ? What is its

limitation ? - _ -5

mﬁw%ﬁﬁqﬁm%{m ? ST
“FHoF IO 4 ﬁcﬁw 3 @A
TR I 2 TR TR Fat

What is lattice energy‘ ? How does
the solubility of an ionic solid

depend upon its lattice energy ?

. Mention the factors on which

_lattice energy of an ionic solid

depends. ' | '5

o GBI WIS TR @iy e
@O (IR ST IR ¢ I ol

bR (IG5 e Fée Tt T
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(i)

Calculate the % ionic character in
HCl molecule. Given the bond
dlstance in this molecule is
1.275A and observed dipole
moment value is 1-03D. 3

HCl {'ﬂcﬁ'% R &f R w1 e

. @i® @ HCl 998 %@ @9 1.275A

(i)

@ @

w5 JfRRre f&rwe s 1-03D.

The dipole moment of NHj is larger
than that of NF3. Justify the
statement. - 2

NF3 & NH;-3 e @i QR
sl '

What are quantum numbers ?
How do they arise in the wave
mechanical model of an atom ?

" Discuss the physical significance

of different quantum numbers.
1+2+4=7

@RIGN WA & 2 aﬁtﬁqgm&%
e S o @ SeAfe = ¢ Rfen
(PRGN AT (S1oS ReIag 31 31 |
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(i)

Write Schrodinger wave equation
for hydrogen atom. What are
various parameters used in the
equation ? | 3

2RGE AE A eRE waeol
FRIEACH! 711 AN 309 @l
Rfen crfioRER fei

Compare and contrast dbout the
structure and stability of

carbocation and carbanion. 5
ST T IR 15 =

Ao G SR oAy Bie |

How is benzene converted to

. acetophenone ? Name the reaction

and. discuss the mechanism
explaining each step. 5

e (MR GBS Rt sifvassy
= @ | RiToR i B i afed:
e P JMeE [fdrm RS 2ok =11
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State and explain Huckel’s rule

_of aromaticity with -suitable

examples. - 3

Toge SrRePR FRE(e G R

R et ==

| (@

(@)

What are anti-aromatic ,
compounds ? Give examples. 2

oD (it et R e 2 TwiRel
A

Compare the relative stability of
benzene, toluene and nitrobenzene

. towards electrophilic substitution.

(iv)

3
TR i ARG e Rl e B |

Explain the difference between the
terms conformation and
configuration by taking suitable

examples. ‘2
ToIgE THITRPTR o1 e R e

A< I = |
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